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DELHI PUBLIC SCHOOL, BHILAI (C.G.)

Time: 3 hrs. - MID-TERM EXAMINATION, 2018 . . B ‘1'7.09.18l '

" Class: X ENGLISH (COMMUNICATIVE) - M.M:80

General Instructions:

{i) This paper is divided into three sections.
Section A - Reading - 20 marks
Section B - Writing & Grammar - 30 marks
- Section C - Literature - 30 marks
{ii} Al the questions are compulsory.
(iii}  Any section may be attempted at a time. | :
{ivj  All the questions of that section must be at'tempted in their right order.
SECTION-A [READING] ' - o . [20]
1. -Read the following passage carefully and answer the questions that follow: : (1><_8=8) .

Miranda House Aids Digital Vision

thtle but significant steps are being taken towards enabling the disabled and sensitising the others
— Delhi University’s Miranda House is setting an example of being a college that’s using dlgttal
technology to make its campus disabled-friendly. :

Lakshita, the enabling committee of the college, has launched a phone application that helps the
blind navigate the premises. When anyone with the app on their smartphone comes within three
feet of any of the 100 QR codes {quick response codes) installed across the college, they get
directions. :

- Sushma, a B.A. Hindi {Hons) 'student,"who is visuéHy ihﬁpaired, 'explains, “if I'-m passing by the

canteen, my phone will tell me how many steps to take in which direction.” Te verify this, some
students were asked to check on how well the app functions. It was found that it’s prompt and easy
to use. When some visually impaired students were asked on how well the app worked; one of

‘them replied, “We used to feel uncomfortable asking other students for directions every now and

then. But with this app now we feel more confident,” said Sushma. Another blind student, Shanti
agrees that the app has simplified navigation. “App is simple and the veice message is clear,” she
said.

The Principal adds with pride, “Technology is something that almost every student understands,
and at the same time, is easy to use. These QR codes make the students wonder what they are and
what they do, thus creating awareness and sensitising the students.”

A senior student studying in the final year said she has seen many students use this app. “It works
well and adds a different dimension of help, making them seif-reliant,” she says.

- Besides the ‘digital. vision sighboards’, the college has installed a Braille ndtic_e ‘board, converted

recommended textbooks ‘into Braille, and released Braille editions of the college magazine.

‘Miranda House also has several ramps, aiding the movement of the disabled, and now, plans are

underway to install elevators.

{a} What does the expression- ‘little but significant steps’ imply?

(b} Why is there a need to sensitise other students too?

{c) What infrastructure changes have been made to make the campus disabled friendly?
{d} What steps have been taken to promote easy reading for the visually challenged?

{e) How does the phone app help in navigation?

{fi Whatare QR codes?

{g) How did the reporter verify the authenticity of the app? :
(h) Do you think the college has plans to do something more in near future? If so what are they?

2 Read the following passage and answer the quest:ons that follow: -

1. Solar energy has long struggled to compete with fossil fuels due to the high cost of sclar panel
production, installation and maintenance. It is here that robots made their entry and have
come in handy. The auto industry and many other solar companies have automated the
“production of photovoltaic (PV) panels with robots that are more cost effective and previse.
This has led to a fall in price of solar energy in recent vears.
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2. However, the savings generated by robotic production alone have not been enough to create
w1despread availabllity. In order to create a competitive edge, many companies had to look into
other areas to cut cost. Solar Company Alion has developed the “Rover”, a robot that can install -~
solar panels in rows, along concreted bases using only an operator and a small team to create
the foundation. The robot can work continuously in the hot, sunny areas, where solar panels
necessarily have to be installed. This brmgs down the cost of installation and materials by 15
percent over conventional methods. :

3. Once Installaticn is complete, other robots take over the maintenance of the panels by moving
across each row to wash away any surfa_ce material that may reduce the efficiency of the panel,

~ atime consuming task previously done by teams of people with hoses.. | _

4. Robotic innovation is not restricted to the solar industry. Competitors in_energy field like’
mining, oil and gas industries are also seeking to integrate robots to cut down on their costs. '

5. Driverless trucks and trains in mines today are used to cut cost, eliminating the need to pay

‘ operators. Similarly companies across the mining industry are looking to replace human
workers at the face of the mines with robotic technalogy, as conditions hundreds of metres
below ground are often extremely dangerous. Robotic technology can be remotely operated
and is cheaper. . :

6. In Canada, rig robots can now assemble an entire down hole assembly system for obtaining oil
at the bottom of the sea. Other welding robots have become more sophisticated and require
little help when making repairs. Robotic companies are now trying to replace manpower by

~ fully automating the entire drilling process from the floor to retrieval.

7. Developed countries have committed themselves to renewable energy resources. The U.S.
recently donated 4 billion dollars in private sector funding for innovations. In emerging energy
markets, solar innovations are becoming more sustatnable and affordable than fossil fuels.

2.1 Answer the following questions briefly: ' (2x4=8)
al Whyis solar energy still not a preferable mode for energy generatuon?
b) Hew are the companies using solar panels trying to cope with the cost?
c} What are some of the areas being taken over by robots? _
d) Whg!is the U.S. Government donating money tc private companies?
2.2 Fili in the blanks with one word or a phrase: (1x4=4)
a} Pick out the word from the passage which means the same as ‘distantly’
{Para -5}
b} is a system in which work is done with mechanical or electronic
equipment and not human beings. (Para—6)
c) What did the solar company Alion develop?
d} Why did the solar energy prices fali?
SECTION-B [WRITING AND GRANIMAR] [30]

3. You are Malini / Mahesh, a resident of Shalimar Colony, Vikas Nagar. Yesterday you went for
jogging for the first time in the newly constructed stadium near your colony. You noticed, much to
your dismay, that most of the benches were broken, none of the toilets was functional and the
bicycle tracidbs full of pot holes. Write a letter of complaint to the Manager, Sports Stadium, Arun

- Bagh, Bhilai apprising him of the situation and asking him to take suitable measures to see that the
stadium maintenance is not compromised with. (100-120 words). {8}

' OR

Last week you and your family went to Malaysia for a short holiday. You travelled by Air India. You
had put in a request for a wheel chair for your ziling mother at the time of buying your tickets.
When you arrived at the 1G Terminal — 3, none of the Kiosks to request for wheel chair was
working. Moreover, the staff was not at all helpful.
Write a letter to the Chairman, Air india, Lalbagh, New Delhi complaining of the poor services, You
are Rahul/Rohini, resident of Lakshami Nagar, Civil Lines, New Delhi. (100-120 ‘words)

4. Using the cues given below, write an mterestmg story in 200-250 words Give your story a catchy

title.. . {10}

~ Winner of world’s ughest Dog contest- sweet and energetuc dog- Victim of fire accident- Languished
in a shelter for nine months- adopted by Chandler- named him Peanut- Chandler proposes to raise
awareness about being kind to animals - prints posters. ' ‘

OR

Ravi had been coming late to his office since the last month. His boss was very annoyed with him
and warned him that he could be fired from his job. One day ........ :
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. Complete the passage below by fi f'llmg the blanks with the most su:table word from the list glven

below: N 3 o (1x4=4) .

‘Right from his childhood, Ramanu;an {a ) : extraorcimary love for mathematics _
He was so obsessed (b) _ d:scovermg mathematacal formulae and solut:cns that he
(c} ' forget' to eat his meals. It was sald that his mother and h:s wife
(d) feed him his meals so that he could continue wrltrng, while he ate.

(@) i) display : i} disp!ays o iit) displayed . iv) displéying

(b} ito . diyfor it} in iv) with '

, (¢)_ - i) should _ Ciiywould . iiiycould - iv) may
(d)  i)hadto ii) haveto i) hasto .v) had

. Inthe foiiowmg passage one word is mtssmg in each Ime. Wnte the missmg word aleng wnth the
word before and after it. | _ o (ixa=a)

: | _ ‘ Before Missing word - After.
Corporate initiatives in field of — - eg. o the ‘ field
education increasing. The effort a) ——— e S e
is not only understand the issue b) e —m— ‘ e
of the local population but in use 1] I S — o | e
of education as tool to address such issues, d) e ————— S '

» Read the following conversation and fill in the blanks in reported speech. - {1x4=4)
Father : who do you think will win the match? '
Son who are the men in blue?

~ Father : That’s the Indian team. | S
Son in my opinion the Indian team will win the match.

The father asked hisson {a)____ - The son asked his father (b) . The father

told him that (c) ) . The son said that {d)

SECTION-C [ITERATURE] [30]
{Textbook + Extended Reading Text)

. Read the extract given below and answer the questions that follow: (1x4=4)

- Now, Amelia, you mustn’t give way. We all got to
die sometime or the other. It might have been worse.

{(aj Who is the speaker? | - .
(b} What did he imply when he said, “it could be worse”?
{c) Whatisthetonein the above lines?

(d} What does the expression ‘musin’t give way’ mean?

OR
“When wasteful war shall statues overturn,
And broils root out the work of masonry,
Nor Mars his sword nor war’s quick fire shall burn
“The living record of your memory”

(o) What does the expression ‘wasteful wars’ imply?
{6} Explain the second line. .

(¢} Who is Mars and why does the poet refer to him?
(d) Whatis the rhyme scheme used in the abave lines?

Page3of4



9. Answer any four of the following: - ' ) | _ o o (-25(4=8)
{a) What surprise awaited. the narrator at Pole’ca? , ‘
(b}  What way does the writer brmg out humour through Miss Mebbm s nammg of her cottage
" and the planting of tiger lilies? i ‘
{c) What impression do you form of the Postmaster after readmg the story “The Letter’? ?
{d) Bring out the irony in the frog’s statement ‘your song must be your own’.
(e}

‘Nothing beside remains’. What does the narrator mean when he says these words?

© 10. The author Dhumketu carefully builds up an atmosphere of Loneliness and Grief in the story ‘The

Letter. Bring out this element with instances from the story. (100-120 words) “{8)

OR

‘Ozymandias’ and ‘Not Marble Nor Gytided Monuments’ are about time. Compare the two sofinets

in terms of the way in which ‘Time’ is treated by the poets. {100-120 words)

11. Descnbe the relatlonsh!p between Anne Frank and Margot. (200-250 words) . (10) .

OR

Write a detaiied character sketch of Anne Frank.

gk
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DELHI PUBLIC SCHOOL, BHILAI (C.G.)

C‘lass:‘X FIRST TERM EXAMINATION (2018) 04.09.18
v Timner SOmD., - o NTSE- SAT e MEMESO L
Name: Roll No. Class/Sec.
Tnvigilator’s Sign.
Note: » All questions are compulsory. ¢ FEach question carries 1 mark.

. 1. Two straight lines in same plane which never meet are called:

DD-D

() angles (b) transversal lines (c) vertex (&) parallel lines ]::]
2. Locus of a point in a plane equidistant from a fixed point is known as: . .
(a) triangle (b) rectangle ' ' (c) hexagon () circle l _
3. Opposite angles of any quadrilateral inscribed in a circle are: '
{(a) tangent (b) supplementary {c) complementary (d) reflective 1 !
4, Angle subtended between any two chords of a cirele, having common point on its circumference is called;
_(a) circum angle {b) right angle
(c) supplementary angle (d) complementary angle
- 5.-.-Set-of all ordered pair (%, y) which satisfies system of equations is called:
(a) solution set (b) null set (c) complex set {d) subset
6. A straight line which touches circumference of a circle at a single point only is known as:
(a) secant (b} sector : (c) tangent ~ (d) segment
7. A line that intersects two lines in different points is known as: ‘
(a) angles {(b) transversal lines (c) vertex © (d) parallel lines
8. A rational fraction N{(x}/D(X), with D(x) not equal to zero and degree of N(x) is less than degree of D(x) is
known as:
(a) proper fraction (b) rational fraction (c) irrational fraction  (d) improper fraction
9. A tangent line intersects circle at: '
(2) two poinis - (b) three points (c) single point (d) no point
10. A line segment joining any 2 points on circumference of a circle is called: '
{(a) arc (b) chord (c) segment (d) radius
11. Who defeated the Pratihara Empire? ,
(a) Aditya I (b) Krishna III {¢) Parantaka 1 {d) Govinda ITI
12. Who founded the Rashtrakuta dynasty? ‘
(a) Dantidurga (b) Dhruva (c) Govinda Il {(d) Indira i
13. In stone age, the Microliths were most commonly found in which of the following ages?
(a) Paleolithic {b) Mesolithic . (¢) Neolithic (d) Chalcohthlc

14. Which of the following is not a correct statement about Buddhist Canonical literature?
(a) Abhidhamma Pitaka was compiled in third Buddhist Council
(b) Digha Nikaya is a part of the Sutta Pitaka
{¢) Vinaya Pitaka primarily deals with monastic rules for monks and nuns
(d) Sutta Pitaka deals with philosophy and psychology and lzys down methods for training the mind.
15. Which of the following is a correct statement about Indus Valley Civilization?
(2) Both Harappa and Mohejodero are is located on the banks of Indus River :
(b) Both Chanhudaro and Kalibangan were located within the boundaries of present day Ra3 asthan
(c) Both Surkotada and Dholavira are located in Katch of Gujarat
{d) Lothal site was located on bank of Narmada river
16. In Stone Age, the Microliths were most commonly found in which of the following ages?

OOooood

_

(a) Paleolithic {b) Mesolithic (c) Neolithic {d} Chalcolithic
17. Which of the following was most prebably the first metal to be used in India?

(a) Iron {b) Copper {c) Gold {d) Silver
18. Who founded the Chola Empire?
- (a) Rajadhiraj (b) Rajaraja {c) Rajendra I {d) Vijayalaya.
19, Which of the following is the highest peak of Satpura Range?

(a) Gurushikhar (b} Dhupgarh (c) 2achmarhi {d) Mahendragiri

i

20. The Thummalapalle mine which is considered to have one of the world’s largest reserves of 1.50 lakh tonnes
of uranium is located in which among the following Indian States?

(a) Karnataka (b) Andhra Pradesh (¢} Tamil Nadu (d) Kerala i :
21. Tropic of Cancer passes through which of the following group of Indian States:

(a) Gujarat, MP, Chhattisgarh, Manipur (b) Rajasthan, Jharkhand, West Bengal, Mizoram

(c) UP, MP, Bihar, Jharkhand (d) Maharashtra, Chhattisgarh, Orissa, Andhra Pradesh

22. The land frontier of India is about 15200 KM. Which of the following countries shares the largest border
length with India?

.

(a) Bangladesh (b) Pakistan (c) China {d) Nepal
23. The lacustrine deposits of Kashmir called ‘Karewas’ are known for: ‘
(a) Saffron Cultivation (b} Terrace farming (c) Apple Orchards {d) Jhum Cuitivation

24. How long a person should have practiced in a High Court fo he eligible to be appointed as a Judge of
Supreme Court of India?

(a) 10 Years (b) 12 Years (c) 15 Years (d) 20 Years
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25. Which of the following Statements is correct regarding the Election Commission of India? D
(a) It is an independent and statutory body. (b) It consists of members having a tegure of six years.
(¢} It acts as a court for arbitration of disputes related to granting of recognition to political parties. .

{d) Being an all-India body, it is also concerned with the elections with the elections to Gram Panchayats and
State Mumicipalities.

of a new state?

26. Which of the following Schedules of the Constitution of India has to be amended to provide for the formaﬁau]__}

{a) First Schedule (b) Second Schedule (¢} Third Schedule {d) Ninth Schedule
27. The Constitution of India empowers the Supreme Court of India to adjudicate dispuies between the Centre
and the States through: 1
(a) Appellate Jurisdiction {b} Original Jurisdiction L
(c) Advisory Jurisdiction (d) Writ Jurisdiction
28. National Development refers to:
(2) Equality {b) Democratic ' i
(¢) Employment {d) Development of all sections S

29. Per capita income refers to:
{a) Whole income

30. BMI Stands for:
{2) Body Mass Index
{c) Below Measure Index

31. The highest boiling point is of:
{a) ethane (b) ethanol

32. In evolutionary terms, we have more in common with:
(a) a Chinese school boy (b) a chimpanzes

(b) Average income.

33. The gas evolved when ethanol reacts with sodium metal is:

(a) H, (b) CO;,

34, Which of the following elements is not present in stainless steel?

{a) Iron {b) Tungsten

35. Which of the following can't be used to make a solar celi?

(a) Silicon (b} Platinum
36. With the increase in atomic number in period:
() metallic character decreases
(c) chemical reactivity decreases
37. The uterus prepares itself to receive the fertilised egg:
{a) every hour {b) every day
38. In the reaction the conc. H>SQ, acts as:
{a) an oxidizing agent '

. . 3
(¢) National Income {d) None of these "
(b) Bureau Mass Indeﬁ
{d) None of these C]
(c) ethanal (d) ethanoic acid|____|
(c) a spider (d)a bacterium ! ;

(c) H,O {d)CO

L]
() Nicke] ]
(d) Germanium D

]
(d) every year D
[ ]

fc) Chromium

(c) Gallium

(b} metallic character increases
(d) chemical reactivity increases

{c) every month

{b) provides acidic medium
{d) a drying agent

{c) a dehydrating agent
39. Which of the following is not associated with Fleming's left hand rule?
{a) Resistance {b) Magnetic field
40. The frequency of direct current is:
{(a) zero (b) 50 Hz
41. Every-hot object emits
(a) X-rays (b) infra-red rays

. (c) Force {d) Current . % }
(¢} 60 Hz (d) 100 Hz } z
(c) visible light (d) none of these

42. An element reacts with oxygen to give 2 compound with a high melting point. This compound is also soluble

in water. The element is likely to be:

(a) calcium {b) carbon
43, Thyroid glands is located:

(a) near the heart

(e) in the neck region
44, In the reaction 2PbO+ C — 2P + COZ:

(a} lead is getting reduced

(c) iead oxide is getting reduced.

(b) at the base of the brain

{c) silicon {d) iren

(d) between stomach and duodenum

{b) carbon dioxide is getting oxidised ‘ i
{d) carbon is getting reduced.

45. At many places in the ocean, the difference in temperatures between the water 'at the surface of ocean' and 'at
deeper levels' is upto: E ;

(a) 120°C (b) 80°C (c) 50°C (d) 20°C
46. The gas which turns fat and oil containing foods rancid is: o
{a) hydrogen (b) oxygen (c) nitrogen (d) carbon dioxidei i

47. A stream of positively charged particles (alpha particles) mo‘*mg towards west is deflected towards north by a
magnetic field. The direction of magnetic field is:

{a) towards south (b) towards east {c) downward (d) upward. D
48. In the equation NaOH + HNO; — NaNGO; + H;O nitric acid is acting as: —

{a) an oxidising agent (b) an acid {(¢) a nitraiing agent (0) a dehydrating agent 1
49. Which order of relative size amongst the following is incorrect? : ‘

() Li<Na<K (b) C< Si< Al (c) Mg> Al <Na (& F<Cl<Br j

50. A dynamo converts:
{a) mechanical energy into sound energy
* {c)electrical energy into mechanical energy

{b) mechanical energy into electrical energy
{(d) electrical energy into sound energy

B deek
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DELHI PUBLIC SCHOOL, BHILAI
MID TERM EXAMINATION 2018

Date : 19.09.2018 SUBJECT : MATHEMATICS Time : 3 Hours
CLASS -X ' Max. Marks : 80
GENERAL INSTRUCTIONS:
1 Al gquestions are compulsory.
2 The question paper consists of 30 questions divided into four sections A, B. C and D.
3. Section A comprises 6 gquestions of Imark egeh.
Section B comprises 6 guestions of 2 marks each.
Section C comprises 10 questions of 3 marks each.
Section D coniains 8 questions of 4 marks each.
4. Internal choices are given for 4 questions of 3 marks and for 3 questions of 4 marks.
5. Use of calculutor is not permirtted.
SECTION: A
01.  Show that 1 is a zero of the polynomial p (x) = x% + x — 2
02.  Write whether the following pair of linear equations is consistent or not.
x+y =14, x—y=4 |
03. In ADEW, AB//EW. If AD=4 cm, DE=12 ¢cm and DW=24cm, then find the value of DB.
04.  Write the acute angle 6 satisfying V3 Sin8 = Cos@
05.  The probability of getting a bad egg in a lot of 800 eggs 15 0.125.
Find the number of bad eggs in the lot.
06. A number is chosen from 1 to 100. Find the probability that it is a prime number.
SECTION : B
07.  Find the LCM of 92 and 510. Also, find their HCF by using L.C.M.
08. Ifaand f are zeroes of the quadratic polynomial: x% — 6x + a, find the value of a, if 3a + 28 = 20.
09. T Sin 3A = Cos (4 —26%), where 3A is an acute angle, find the vaiue of A.
10.  Oue card is drawn from a well shuffled deck of 52 playing cards. Find the probability of getting
(1} a non-faced card : (ii) a black king or a red queen.
11.  Find the quadratic polynomial, sum of whose zeroes is 8 and their product is 12. Also find the zeroes
of the polynomial.
12.  Ina single throw of a pair of dice, what is the probability of getting:
(1) a prime number on each die (ii) atotal of 9 or 11.
SECTION : C
13. A rectangular courtyard is 18m 72 cm long and 13 m 20 cm broad. It is to be paved with square tiles
of same size. Find the least possible number of such tiles.
14. If « and B are zeroes of x? — 7x + 5, then find the value of%+§
13, Solveforxandy:3+1=l, 2221
x N4 4 x v 3
OR _
For what values of K will the following pair of linear equations have infinitely many solutions?
Kx+ 3y — (k—3)—0 12x + ky — k“-(}
16.  Use Euclid’s division lemma to show that square of any positive integer is either of the form
3m or 3m+1 for some integer m.
A c
17.  Inthe given figure, ABC and DBC are two triangles on the same base BC. %
If AD intersects BC at O, show that ar @4BC) A9 e
ar {ADBC) po ‘
& L
OR

if the arcas of two similar triangles are equal, prove that they are congruent.



18.

19.

20.

21.

22.

23,

24,

25.

26.

27.

28.
29.

30.

Fvaluate

(51:7&2159 -4 Sin275°) + \/S(tan 139 tan 60°. tan 27°.Cot 70°. Cot 20°, tan 779 tan 630)
. . OR
. Cas459
. Evaluate Sec30%+Cosec3n?
Prove that

(Sin A + Cosec A)? + (Cos A + Sec A)* = T+tan®*+Cot?A

Prove that the sum of the squares of the sides of a rhombus is equal to the sum of the
square of its diagonals. '

Prove that
JSec o+t J.S‘ec -1 _ > cosec

Sec 8-1 Sec 8+1

Percentages of female teachers in middle schools of rural arcas of various states are given in the
following frequency table. Find the mode for this data.

Percentage of female teachers | 10-25 | 25-40 | 40-55 | 55-70 | 70-85
Number of States 5 12 4 13 6

OR

Find the mean of the following frequency distribution by using step deviation method.

Class Interval | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
Frequency 14 24 26 20 16

SECTION: D
Obtain all zeroes of 3x*+6x3-2x%-10x — 5, if two of its zeroes are \E and - \E .

OR

If the polynomial 8x* + 14x3 — 2x%+ 8x — 12 is divided by 4x%+3x — 2, the remainder comes out
tobeax +b. Findaandb

A man travels 600 km to his home partly by train and partly by bus. He takes 8 hours if he travels
120 km by train and rest by bus. Further, he takes 20 minutes longer, if he travels 200 km by train
and rest by bus. Find the speeds of the train and the bus.

OR

~ A boat covers 30 km upstream and 44 km downstream in 10 hours. Also, it covers 40 km upstream

and 55 km downstream in 13 hours. Find the speed of boat in still water and that of the stream.

If the mean of the following distribution is 18, find the missing frequency.
Class Interval | 11-13 | 13-15 | 15-17 [ 17-19 | 19-21 | 21-23 | 23-25
Frequeney 7 6 9 13 £ 5 4

State and prove the Basic Proportionality theorem.
OR

Prove that the ratio of the areas of two similar triangles is equal to the ratio of the squares of their
corresponding sides. '

Prove that LosA-SmAtL _ CosecA+ Cot A

CosA+SinA—1

BL and CM are medians of a triangle ABC right angled at A. Prove that 4(BL? + CM?)=5BC>.

Solve graphically the pair of linear equations: 3x —4y +3 =0 and 3x+4y—21=0
Find the area of triangular region formed by these lines and x-axis.

The following table gives production yield per hectare of wheat of 100 farms of a village.

Production Yield | 40 oo 1 5560 | 60-65 | 65-70 | 70-75 | 75-80
(in kg/ha)
Number of Farms 2 8 12 24 38 16

Chanee the distribution to 2 more than type and draw its Ogive. Also find the median graphically.
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‘DELHI PUBLIC SCHOOL, BHILAI (C.G.) .
Time: 3 hrs. MID TERM EXAMINATION, 2018 ' 10.09.18

Class: X : SCIENCE _ S M.M.:80
| General Instructions: >

1) 1 mark questions are to be answered in one word or one sentence.
2) 2 marks questions are to be answered in 20-30 words.

'3) 3 marks questions are to be answered in 50 words.

4) 3 marks questions are to be answered in 70 words.

PHYSICS ‘
1. A ray of light is incident normally on a plane mirror. What will be the angle of incidence and angle of {1
reflection? :
5 At what distance from a concave lens of focal length 20cm should a 6cm tall object be placed, so that it 3}

forms an image at a distance of 15 cm from the lens? Also determine the size of the image formed. Draw
necessary ray diagram also.
) What is electrical resistance? ‘
b) State the factors on which the electrical resistance of the conductor depends. ‘ o
¢} A wire of length 2m and area of cross section 2em? is having resistivity 1:6 x 107 Qm. What will be the.
resistance of the wire? ' _ : -
4. a)Name the phenomenon of splitting of white light. What is its cause? Explain how this phenomenon is RE))
used in the formation of rainbow? :
5. a) State the relation between potential difference, work done and charge moved. 3)
b) Name the device used to measure potential difference across the conductor. Draw its symbol.
¢) Caleulate the work done in moving a charge of 4C from a point at a potential of 220V to a point at 230V.
OR o '
i) Name the quantity measured as rate of flow of charge. What is its SI unit? Express it in terms of charge
and time.
ii) Which device is used to measure the above quantity? How is this device connected in the circuit?
6. 1) Explain the following terms in case of a spherical mirror- o 5)
a) Focal length b) Pole ¢) Principal Focus of a convex mirror. '
i) Write 4 characteristic of the image formed by a plane mirror. .
7. A student finds the writing on the blackboard as blurred and unclear while sitting on the last bench of the 3)
classroom. He however sees clearly when sitting on the front bench. _
a) Draw a ray diagram to illustrate the formation of image of the blackboard writing by the eye lens
when he sits at the last bench. S o
b) Name the defect of vision the student is suffering from. Also List the two causes of this defect.
¢) Name the kind of lens that would enable him to see clearly when he is seating on the last bench. Draw -
ray diagram to illustrate how this lens helped him to see clearly. :
OR
‘What is atmospheric refraction? Use this phenomenon to explain the following natural phenomenon
1) twinkling of star ii) advance sunrise and delayed sunset. '
, Draw necessary ray diagram to illustrate your answer.
8. What will be the position of object when the image formed by a convex lens is : )
a) virtual erect and enlarged b) real inverted and enlarged? .
9. In the given ray diagram for refraction of light ray through the glass slab. What are marked as A, B,Cand  (2)
1D? Write each of them.

3

Lid

CHEMISTRY
1. ‘What is the common name of the compound CaOCly? {1
2. Write down any two uses of washing soda. 2)
3. Balance the following chemical equation- Al + Fe,0y — Fe+A4LO, 6}

Also identify the substance, which is oxidised, reduced, oxidant and reductant.

Pagelof2




Name one metal which- ‘ 3)
(i) is best conductor of heat, ' -

(i) can be cut with a knife,

(i) is liquid at room temperature (25°C). : , ,

What are olfactory indicators? Give any two examples. ' o _ : 3

‘ OR ' : ' '

. Which gas is usnally liberated when an acid reacts with a metal? Explain with an example. How can

you test the gas? : | - . R

What is Chlor-Alkali process? Explain it with balanced chemical equation. Name the electrodes  (5)

where the gases produced in this process get collected. Mention any two uses of the alkali produced

in this process. : ' '

OR o

Explain the production of Plaster of Paris with balanced chemical equation. Why is half a molecule

of water present in POP? Why is POP stored in moisture proof container? Explain with chemical

equation. o ' ' '

(a) Complete and balance the following word equation- 3
(i) Hydrogen Sulphide + Oxygen > + . '
(ii) Barium Chloride + Aluminium Suiphate > +

() Five solution A, B, C, D and E when tested with universal indicator showed pH as
4,1,11, 7, 9 respectively. Which solution is — S . ' : _
_ (i) neutral, (ii) strongly alkaline (i) stropgly acidic, (iv) weakly alkaline, (v) weakly acidic?
Arrange the above pH values in increasing order of hydrogen ion concentration.-
What are the nature (acidic/basic/neutral) of the solutions-if colour changed in pH paper as pink, @)
greenish yellow and dark blue?” ‘ ‘ .
Two samples of fruit juice A and B have pH 4.5 and 2.0 respectively. Which sample is mote sour )
and why? _ : : o
BIOLOGY
What are the three events occur during the process of photosynthesis? . ' @)
What are nephrons? Name four substances which are selectively re-absorbed by the tubular part of 2}
the nephron. :
Why is it necessary to separate oxygenated and deoxygenated blood in mammals and birds? &)}
Highlight three points : '
OR .

Draw a schematic representation of breakdown of glucose by various pathways.
How is small intestine designed to-absorb digested food? Mention three points. 3)
(i) Write one difference between sensory neuron and motor neuron 3
(if) Which structure.protects the brain in our body?
(iiiy What is reflex action? : ‘ - ‘ .
(i) Draw a labelled diagram of Stomata. List any two functions of Stomata. : {(3+2=5)

(i) Why aquatic organisms have to breathe faster than the terrestrial organisms? o

(i) Wheat are the two organs constitute the central nervous system? ' . (155=5)

(i) Which is the main thinking part of the brain? -
- (iii) Which part of the hind brain controls involuntary actions like blood pressure, vomiting etc.

(iv) Which part of the hind brain maintains posture and equilibrium of the body?

(v) Give two examples of reflex action. ‘

An experiment is conducted to show respiration in germinating seeds.

(i) Which gas is released from the germinating seeds which turns lime water milky? : @)

(ii) What is the role of KOH solution which is kept and hang in a small test tube inside the conical (1)

task? - :

OR -
Tn the experimental set up given below, why does the water level rises up in the bent tube.

Which stain is used to study a temporary mount of a Jeaf peel? Why glycerine is used before (1+1=2)
putting a cover slip? ' '
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DELHI PUBLIC SCHOOL, BHILAI (C.G.)
MID TERM EXAMINATION-2018
Date of Exam: 12.09.2018 Social Science _ M.M.: 80 :
Max. Time: 3 Hrs. Class X No. of printed page: 1
General instructions:
1. Attempt al! questions.
2. Answer to questions of 1 mark should not exceed 30 words each.
3. Answer to questions of 3 marks should not exceed 80 words each.
4. Answer to questions of 5 marks should not exceed 120 words each.
5. Attach the maps properly.
6: Write name, class/sec. and roll no. on the map alsc.
' HISTORY & CIVICS {20+20=40 MARKS)
1.  Who remarked, “when France sneezes, the rest of Europe catches cold’? 1
2.  What was the immediate effect of the Chauri Chaura case on the Non-cooperation Movement? 1
3. After independence, Sri Lanka witnessed the supremacy of which community? 1
&,  Define the term Federalism. ‘ 1
5.  What are the two religious divisions in the Northern Ireland? 1
6. Who are called Feminists? 1
7.  Write about the Greek War of independence. 3
8. Describe any three features of the Salt March by Mahatma Gandhi 3x1=3
9. Howare the legisiative powers divided between the Union and the States in the Indian Constitution? 3x1=3
- 10. Women in the Indian Society face discrimination, and oppression in many ways. Explain any three. 3x1=3
11. Explain five important changes brought about in Europe by the Treaty of Vienna 1815 5x1=5
12. Describe the following:  2¥2%
{a) The lallianwala Bagh case {b) The Gandhi—Irwin Pact =5
13. What is power sharing? Explain the Belgian model of power sharing. _ 1+4=5
14. ‘Communalism can take various farms in politics’. Explain in brief. 5x1=5
15.  On the given Map of india, name the places:
(g} Famous for indian National Congress session of 1927 : 1
{b) The place famous for the movement of Indigo farmers 1
ECONOMICS {20 MARKS)
1.  Who has the ownership of the assets in the public sector? 1
2.  “‘Money cannot buy all the goods and services that one needs to live well’. Do you agree with this 3
staternent? Justify your answer with any three suitable arguments.
3. Explain disguised unemployment with two examples, one from urban area and other from rurzl area. 1+1+1=3
4. How did NREGA-2005 bring upliftment of the rural people? Explain {(any three features) 3
5. Distinguish between Organised Sector and Unorganised Sector (5 points} 5
6.  Study the date given below and answer the questions that follows: _ 5
Comparative data of Puniab, Kerala and Bihar
State Infant mortality | Liferacy rate {%) | Net attendance ratio
rate 1,000 (2003) {2001) class |-V (1995-95)
Punjab 435 70 - 81
Kerzla 11 91 91
| Bihar 60 47 41
3 Which State has the highest infant mortality rate? 1
3 Why does this State has the highest infant mortality rate? Give two reasons. 1+1=2
f Define Literacy rate. Which State has the highest literacy rate? 1+1=2
GEOGRAPHY {20 MARKS)
1. What is the main cause of land degradation in Punjab? -1
2. Sollis an important natural resource. Explain any three steps to control soll erosion, 3
3. Jawaharlal Nehru prociaimed the dams as ‘Temples of Modern India’. Write three advantages of 3
multipurpose river projects. . )
4.  Discuss how rainwater harvesting in semi-arid regions of Rajasthan is carried out. 5
5.  Write the difference between subsistence farming and commercial farming (5 differences} 5
OR
(a) Specify the conditions required for the cultivation of Tea under the following heads:
() climate {ii} rainfali {c} soil {d) labour
(h) Mention two major tea producing States.
6. (a) Llocate and label the following items on the given political outline map of India: 1+1+1
{1} Salal dam {(along with river) (i} largest tea producing State '
{b) ‘dentify the feature ‘A’ marked on the given political outline map of India with the help of the
given infermation: ‘A’ — A soil type.
* % % k X




